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7.84 x 1000000 = 5.2 x 100000 =

3.687 x 1000000 = 2.595 x 100000 =
10.048 x 1000 = 2.439 x 1000 =
6.675 x 10000 = 4.436 x 10 =
2.822 x 100000 = 2.801 x 10 =
2.991 x 100 = 6.881 x 100000 =
6.537 x 10 = 8.788 x 1000000 =
7.462 x 100 = 10.355 x 10 =
8.047 x 10000 = 1.362 x 10 =
3.036 x 100000 = 6.21 x 100 =
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7.84 x 1000000 = 7840000 5.2 x 100000 = 520000
3.687 x 1000000 = 3687000 2.595 x 100000 = 259500
10.048 x 1000 = 10048 2.439 x 1000 = 2439
6.675 x 10000 = 66750 4.436 x 10 = 44.36

2.822 x 100000 = 282200 2.801 x 10 = 28.01

2.991 x 100 = 299.1 6.881 x 100000 = 688100
6.537 x 10 = 65.37 8.788 x 1000000 = 8788000
7.462 x 100 = 746.2 10.355 x 10 = 103.55
8.047 x 10000 = 80470 1.362 x 10 = 13.62

3.036 x 100000 = 303600 6.21 x 100 = 621
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